Good afternoon: no warm up, check hw solutions now; we will continue
with radians discussion then start chords lesson when bell rings
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Radian/Degree Conversions: Use 180° = =&t

Arc length and Sector Area:
Replace 360° with 27!




The windshield wiper of a car rotates through an angle of measure
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The shaded section of the diagram represents the area cleared by the §"/‘
10-inch blade of the windshield wiper as it moves from one side to the other. =

Approximately what is the area cleared by the blade of the windshield wiper?

)§1r2

A. 125in? ’_

B. 183in? 2¢ = "{1[ r3

C. 367in*

D. 790 in? k: zn“;
X = Sw_

<
b0 T -2
~ g3 X



Useful angles to know:
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Chords and Arcs

B

chord: a line segment with endpoints on circle

(diameter 1s the longest chord)
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Intercepted Arc

Inscribed Angle
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HW:

#1-4, 9-12 on arc length, sector area handout
next assess: Thursday!

study formulas






